TA

WINDOWS & DOORS

250 Staunton Turnpike, Parkersburg, WV 26104

5400/5400S/7700/9900 Series
Vinyl Sliding Patio Door
"NON-IMPACT"

GENERAL NOTES

This product has been evaluated and is in compliance with the 2010 Florida Building

Code (FBC) structural requirements excluding the "High Velocity Hurricane Zone" (HVHZ).

Product anchors shall be as listed and spaced as shown on details. Anchor embedment
to base material shall be beyond wall dressing or stucco.

When used in areas requiring wind borne debiris protection this product is required to be
protected with an impact resistant covering that complies with Section 1609.1.2 of the
2010 FBC.

For 2x stud framing construction, anchoring of these units shall be the same as that
shown for 2x buck masonry construction.

Site conditions that deviate from the details of this drawing require further engineering
analysis by a licensed engineer or registered architect.

TABLE OF CONTENTS

SHEET# | DESCRIPTION

Typical elevation, design pressures & general notes
Horizontal cross sections

Vertical cross sections

Buck & frame anchoring

Glazing details

Bill of materials & components

OO IWIN|—

35.6" MAX.
PANEL WIDTH

29.1" MAX.

~ D.LO.WIDTH ™|

139.5" MAX. OVERALL FRAME WIDTH

2 2 N\
o
.9 8m N4
Om [=gh )
Z '5,0 <+
= a4n 0 .
.dmm.No
7] i 0 ¢ Z
Eo"??:z“q
L 00 c i
FETWw o¢ .
J50 3.0 o
2>m 2 %F s
) "'ON -
Zow 0T 2
. O™ “ 0 E
@ oN -0 ¢ £
(I 7]
32387 °N"’
£ o .
6 9 .c28 ™
a = o0 0O
9 D=L 0y s
n_mu.&ms 1
o .2 <
2 o E 2
c T T
[ )
LR o
3
0
o
(=)

96.1" MAX. OVERALL FRAME HEIGHT

91.8" MAX. PANEL HEIGHT
85.4" MAX. D.L.O. HEIGHT

/
Va
/

Y4

’/
7
/

’/
Vi
| ¢

Y

,/
Vi

,/
Vi
/

—_

5400,/5400S,/7000/9900 SERIES
SLIDING PATIO DOORS

PRODUCT:

TYPICAL ELEVATION, DESIGN
PRESSURES & GENERAL NOTES

JK | PART OR_ASSEMBLY:

LFS
Y

130.5°x 819" | 3. XT76" | 290X 713 [Pt il -35.0
G3 | +30.0 | -30.0
13940 x 961 | 35.6°x918 | 29.0xesar 202 *30.0 | -300
G3 | +25.0 | -25.0

NOTE: Maximum frame width and height occur on separate units.

REVISIONS

8/14/14 |REVISED GLAZING & SERIES NO.
7/7/14 |REVISED FRAME SIZE & DETAILS

-—

2

NO| DATE

DATE: 4,/02/13

SCALE:

N.T.S.

DWG. BY:

JK

CHK. BY:

LFS

FL—

DRAWING NO.:

16216.5

SHEET

1 _oF 6

© 2013 R.W. BUILDING CONSULTANTS INC.



/ // / / 1. Stoggtqef co_ncref’ri"obnchr:/ors as neiessorr): fo n f
V. 4 2 / / maintain min. o etween each anchor. 1-1/4" MIN. ©
EMB. (TYP.)

P.O. Box 230 Vairico FL. 33595
Phone No.: 813.659.9197
Florida Board of Professional Engineers

Certificate Of ﬁﬁzatﬁon No. 9
ol &2

BUILDING CONSULTANTS, INC.

Documents Prepared By

See Note 1

Lyndon F. Schmidt, P.E. No. 43409

2
, B
4 4 /// // S8 2
/ d / / 88 [ le
e . <3 <=
32 | 38
(3" HORIZONTAL CROSS SECTION Sk |3 8
\y Shown Direct to Masonry QO 2| 39
" wv) 0 TO
1-1/4" MIN. 8z |4 Tg
EMB. (TYP.) EldA |«
® -
8l Ik
23 |g
L 1-1/4TMIN, x[o]>-
AL’ | EMB.(TYP) e
‘ S
|t
5l
sy 2
Nl
zlul 2
%‘ 3 ol
() JE [
See Note 1 218
3%
ee] O
[v4 [1'4
iy B
NN
N
SN
3EE
oaTE: 4/02/13
scaE  N.T.S.
DWG. BY: JK
CHK. BY: LFS
71"\ HORIZONTAL CROSS SECTION ("2 HORIZONTAL CROSS SECTION SRR 5
\_2_/ Shown w/ X Buck \2_/ Shown w/ 1X Buck FL—16216.5

SHEET 2 OF 6

R\A - Projects\Project Folders\Proj 1701 - 1800\PF 1709\D. RWBC Drawings\New 2014\FL-16216.4-.7.dwg, 2.2

© 2014 R.W. BUILDING CONSULTANTS ING.




CONL SLNVYLINSNOG aNIiaing "My 2 L0g @

60¥CP 'ON "3'd IPIUYDS ‘4 UOPUA] 3
e SNOLLOIS SSO¥D SNOISIAZY .
s52L WILLYIA Ad VG TONIw| | 1| 2|«
186 ‘ON uonozuBAinY 10 100LISO S| STVIEd % 3zIS IAved Q3SIAg8| vi/27¢ 11 ||| <
suoeuibuy jouoisseydld jo pioog DPLOL} (A18N3SSY 80 Luvd [ Mr | "ON S3I¥3S % ONIZv19 Q3SIARM| vL/v1/8] ¢ | = . NI O
LBLE'6S9'CLE "ON ouoyd m z g2 3_
S6SEE "1 OSMIPA 0EZ %08 'O°d \N\Fg« SH004 OlLvd PNIAIS NI ER
"ONI 'SINVLINSNOD SNIgTINg S3I¥3S 0066/000£/S00%S/00+S B m BT h
:Ag peupdeld sjuswunoog -10NA0¥d 3 m o] W %
('dAL) "aw3
NIW /11 ]
o~ .
- O 25
> — O
N G S o) & 2
L o = [
e i G
e e - P c O
o o O c
- Y = g B
° . o]
S T &) 52
= . e v L] & o
p . ) G2
3 . Sl 23
v oc nw (OS]
[~ v....v, N CVA m.m.
S ~= O'E
v . < M (8] -
v . (-4 W —_ g.m
" g2 9|lg's
.:v,q.... VS Nsm
=7 Y o
)
[+ 4
=]
><
il
©
('dAL) "gw3
NIW ./ L-1
{'dAL) "aw3
"NIW /1L

<
un
AR

INTERIOR

)
D‘il
W= )
F
See Note 1

Direct to Masonry @ sill

w Shown w/ 2X Buck at head &

10 M0
I
/ 1"\ VERTICAL CROSS SECTION

EXTERIOR

18 |17
22
20
19

€7 'BMp L -7'9TZ9T-T4\WT0Z MaN\sBumelq DMy ‘a\60LT 4d\00ST - TOLT [04d\siap|o4 1aloid\spafold - Y\



RMA - Projects\Project Folders\Proj 1701 - 1800\PF 1709\D. RWBC Drawings\New 2014\FL-16216.4-.7.dwg, 24

"

~— 4" (TYP,)

. . 3" (TYP.)
3" (TYP.) —= [.* — ( 7" (TYP.)
7" (TYP.) ——
3 . ‘/ ) l“ -—-‘
i 11 L 11 11 11 L

(TYP.)
2X BUCK—\

MASONRY
OPENING é -

I
H
H
[
I
P
I
I
I
I
H
[
[
H
H
H
H
H
I
I
I
I
H
1]

vy =

18" MAX. O.C.
(TYP.)

BUCK ANCHORING

CONCRETE ANCHOR NOTES:

Masonry

4" (TYP) —=| 1——

1. Substitution of equal concrete anchors from a different supplier may have different edge
distance and center distance requirements.

2. Concrete anchor locations at the corners may be adjusted to maintain the min. edge
distance to mortar joints. Concrete anchor locations noted as "MAX. ON CENTER" must be
adjusted to maintain the min. edge distance to mortar joints, additional concrete anchors

may be required to ensure the "MAX. ON CENTER" dimension are not exceeded.

3. Concrete anchor table:

ITw “ /4“

1-1/4"

2-1/2"

4"

1/4"

1-1/4"

1"

4"

16" MAX. O.C.

)

6" (TYP.) ~—1
T T

T
4

P

2X BUCK —/

T
I
I
i
|
l
!
K MEETING STILES
SHOWN FOR

HEAD (TYP.)

]
I
I
H
@
I
I
I
H
i
I
H

6" (TYP.) ——j - ?

16" MAX. O.C.
(TYP)

] i
| I
i i
| Fl
[ il
| H
| H
| I
| Il
| ,, JAMBS (TYP.)
I peromy !
Il M -
N ¥
_/" H H NOTE: TWO (2)
FRAME ; : { : ANCHORS REQ'D IN -
PAIRS @ EACH
[} SILYP) ) OCATION SHOWN
MASONRY 1 X i i )
OPENING — ] : : : : : :
ima | X 3 -
5 i 1l ] i i L ]
FRAME ANCHORING
2X Buck
16" MAX. O.C.
(TYP.) - 6" (TYP.) 4]
]

1X BUCK

FRAME jl

I T
I H
l i
l P
I H
I I
I I
| I
1 H
! H
! I
! I
l I
! I
l H
l H
! I
I '
l I
| I
! I
[ I
| Ll

1
|
|
|
|
I
!
I
l
l
!
!
|
\ MEETING STILES
I SHOWN FOR
!
I
|
|
!
|
I

HEAD &
JAMBS
(TYP.)

NOTE: TWO (2)
ANCHORS REQ'D IN

6" (TYP.) ~—l - ?

16" MAX. O.C.
(TYP.)

MASONRY PAIRS @ EACH
OPENING SILL (TYP.) REF. ONLY LOCATION SHOWN
L -
M
H
I _
] ] i ] § | ]
FRAME ANCHORING

1X Buck, Direct to Masonry

813.659.9197

Florida Board ofr Professional Engineers

Certificate Of

uthorization No. 9813

Z

AL f2SY
Lyndon F. Schmidt, P.E. No. 43409

BUILDING CONSULTANTS, INC.
P.O. Box 230 Valrico FL. 33595

Documents Prepared By:

Phone No.:

e

&

ol

(a1 b

a3 30

22 2=

So |, “—%

= |>

o= |3 3%

~a (&)

- |3l x2

Lo gl 8<

2 |9 R

39 |3

}—-

S ES

Do

alo b~

S %

Q. o
x|{PI>-
S|%im
O‘U)
2|z
Wi
Glss
73]
wl @
Nl &
B (@]
Q %)
=3 [ ] B
3| o
= |
ol
] b
SIS
x|
Yiw
Tiw
}};&—
NN
SRE
~lo
Nz

DATE: 4/02/13

scate: N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:

FL—-16216.5

SHEET 4 ofF 6

© 2013 R.W. BUILDING CONSULTANTS INC.



R\A - Projects\Project Folders\Proj 1701 - 1800\PF 1709\D. RWBC Drawings\New 2014\FL-16216.4-.7.dwg, 2.5

0-5" 0.5"
GLASS BITE GLASS BITE
SILICONE (TREMCO) —— 1"THICK GLASS SILICONE (TREMCO) —— 3/4"THICK GLASS
[— .
) 1/8' TEMPERED S /8" TEMPERED
/
S5~ AR SPACE 3 AR SPACE
=l ) \ 1/8" TEMPERED ! ) \ 1/8" TEMPERED
INTERCEPT SPACER INTERCEPT SPACER
@ GLAZING DETAIL @ GLAZING DETAIL
0.5 -
GLASS BITE
— 1"THICK GLASS
= | 1/8" ANNEALED
0.030" SAFLEX® PVB INTERLAYER
X 1/8" ANNEALED
AIR SPACE
= ) \ 1/8" TEMPERED

GLAZING DETAIL

; \TRISEAL 5/8" SUPER SPACER

SILICONE (TREMCO)

-
-

7 p2s

chmidt, P.E. No. 43409

813.659.9197
orization No. 9813

=

BUILDING CONSULTANTS, INC.
P.0. Box 230 Valrico FL. 33595

Documents Prepared By:

Phone No.:
Florida Board of Professional Engineers

Certificate Of A

Lyndon F.

5400/5400S/7000/9900 SERIES
SLIDING PATIO DOORS
GLAZING DETAILS

PRODUCT:

JK} PART OR ASSEMBLY:

FS
BY

8/14/14 | REVISED GLAZING & SERIES NO.
7/7/14 |REVISED FRAME SIZE & DETAILS

NO., DATE

—

2

REVISIONS

oaTE: 4/02/13

SCALE:  N.T.S.

DWG. 8Y: JK

CHK. BY: LFS

DRAWING NO.:
FL-16216.5

SHEET 5 oF 6

© 2014 R.W. BUILDING CONSULTANTS INC.




R\A - Projects\Project Folders\Proj 1701 - 1800\PF 1709\D. RWBC Drawings\New 2014\FL-16216.4-.7.dwg, 2.6

BILL OF MATERIALS
ITEM # | DESCRIPTION MATERIAL
A | 1XBUCKSG >=0.55 WOOD
B | 2XBUCK SG >=0.55 WOOD
C | 1/4"MAX. SHIM SPACE -
D | 1/4"X2-3/4"ELCO OR ITW CONCRETE SCREW STEEL
E MASONRY - 3,192 PSI MIN. CONCRETE CONFORMING TO ACI CONCRETE
301 OR HOLLOW BLOCK CONFORMING TO ASTM C%0
E 1/4" ELCO OR ITW CONCRETE SCREW (1-1/4" MIN. EMBEDMENT STEEL
REQ'D. INTO CONCRETE)
1 FRAME HEAD* PVC
2 | #8x2-3/4"' FH QUADREX WOOD SCREW STEEL
3 | WEATHERSTRIP (SCHLEGEL #HF-7522-270) -
5 | STILE & RAIL* PVC
9 | SHIM -
10 | TANDEM WHEEL NYLON
11 [ ROLLING RAIL ALUM
12 | SILL* PVC
13 [ SILL DUST COVER* PVC
14 | SILLPLUG NYLON
15 | SILL WEATHERSEAL -
17 | LEFT CAP FOR SILL ADAPTER* PVC
18 | RIGHT CAP FOR SILL ADAPTER* PVC
19 | #8 X 5/8" PAN HEAD, SELF-DRILLING SCREW STEEL
20 | OUTSIDE SILL CLADDING STEEL
22 | INSECT STOP -
23 | SCREEN -
24 | #8 X 7/8" PAN HEAD, QUADREX, SCREW STEEL
25 | FIXED PANEL ANCHOR BLOCK* PVC
26 | ANCHOR STRAP STEEL
27 | SCREW CAP* PVC
28 | GLAZING BEAD* PVC
29 |FOAM PLUG -
30 | HEAD WEATHERSEAL -
31 | #8 X 1-1/4" PAN HEAD, QUADREX, SCREW STEEL
* THE APPROVED WHITE RIGID PVC EXTERIOR EXTRUSIONS FOR WINDOWS ARE TO BE
PRODUCED BY EXTRUDERS LICENSEES IN "AAMA CERTIFICATION PROGRAMS FOR
RIGID PVC EXTRUSIONS".
e 1.9" —|

T« 1.57" a-[

0.08"

1.08"

|

2.03" ‘J
——} r— 0.33"
0.07'
o
(o]
N

@ VERTICAL MULLION

@ GLAZING BEAD 50 ;ﬁleNFORCEMENT

0.07" —»s
v

INTERLOCK

32 | SASH STOPPER EPDM
33 | WEATHERSTRIP -
34 | FRAME JAMB* PVC
35 | WEATHERSTRIP -
36 | #8 X 1-3/4" PAN HEAD, QUADREX, SCREW STEEL
39 | HANDLEKIT STEEL
40 | VERTICAL MULLION* PVC
#10 PPH WOOD SCREW (1-3/8" MIN. EMBEDMENT REQ'D INTO
44 STEEL
WOOD)
46 | STAINLESS STEEL DOUBLE POINT MORTISE LOCK KIT STEEL
47 | SASH COVERING CAP* PVC
48 | LOCK PLUG* PVC
S0 | STILE REINFORCEMENT STEEL
51 | #8 X 2" TRUSS HEAD QUADREX SCREW STEEL
52 | INTERLOCK* PVC
54 | Q-LON WEATHERSTRIP {SCHLEGEL NO. QEZ 345) -
S5 | PULL STILE REINFORCEMENT STEEL
5.44" -
ﬁnﬁql_:’_\‘wji 317" =]
=3 E—T=)
[:8 O 0 * ) CBD = —I
U ’ j f ] S 0.08" —= 3
S 8 5 P [ —T—) _i
I
@ FRAME HEAD @ STILE, RAIL
2.01" ——<—————>'
5.44" {
| [
—e 0.09"
)
% L=
w
ij%]
) @ FRAME SILL
~
~
0.83" =

55 REINFORCEMENT

Pull Stile

:

[ ]
]

. FRAME JAMB

P.O. Box 230 Valrico FL. 33595
Phone No.: 813.659.9197
rofessional Engineers
thorization No. 9813

Florida Board of

BUILDING CONSULTANTS, INC.
Certificate Of

Documents Prepared By

AL s oy

Lyndon F. Schmidt, P.E. No. 43409

5400/5400S/7000/9900 SERIES
SLIDING PATIO DOORS

PRODUCT:

BILL OF MATERIALS
& COMPONENTS

JK| PART OR ASSEMBLY:

LFS
Y

8/14/14 | REVISED GLAZING & SERIES NO.
7/7/14 |REVISED FRAME SIZE & DETAILS

NOJ DATE

~—

2

REVISIONS

oaTE: 4,/02/13

SCALE:  N.T.S.

DWG. BY: JK

LFS

CHK. BY:

DRAWING NO.:
FL—-16216.5

SHEET 6 oF 6

@ 2014 R.W, BUILDING CONSULTANTS INC.



